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(1) Question No. I is compulsory.
(2) Answer any three questions from Q.2 to Q.6.
(3) Use of Statistical Tables permitted.
(4) Figures to the right indicate full marks.
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1) Derive the complexity of quick sort for UW
2) What is asymptotic analysis? Define Bigr:QOrn€ga.and Theta'

notations.
I3) Write an algorithm to find all pairs shortest,p?th.using dynamic

programming.

1) Question No 1 is compulsory. i '' , .,' ' ,, - ,,,''.rt:"'-r1,,,,$i;
2) solve any three questions out of remaining fiye cues,1i9ry,"!... ..-., 
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Q.2. A)

Q.3. A)
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Q.4. A)

Write a note on "Optimal StorageeqT.gpesl';
Def i n e ma ste r t h eo re m. S olrib, 
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Wlit.e"en$tgoffItl$ for Knuth Morris Pratt {KMP) pattern matching. l0

em (d) P, NP and NPC Classes
' *******************
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B: 1. Question No.l Compulsory.
2. Solve any THREE from Q.2 to Q.6
3. Assume suitable data whenever necessary with justification.

Answer any FOUR questions

(A) Explain lnstruction and lnstruction Cycle.
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point addition subtraction algorithm.
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check whether you have got the right question paper'
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(1) Question no. I is compulsory.
(2) Attempt any three out of remaining five questions.
(3) Assume data if required

Attempt any FOUR

. 1.,1. r"

rl', l

Operating System. Brief the Functions of OS.
Shell. Explain use of chmod command in linux.
various scheduling criteria.

lain the effect of page frame size on
lain Thrashing.

How counting semaphore can be used to solve readers
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